I71L/1 RN

ELECTRIC MOTORCYCLE

MOTOR AND GEARBOX

‘VF CHILE

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile



‘F

CHILE

I71L/1 RN

ELECTRIC MOTORCYCLE

MOTOR AND GEARBOX

Item Parte Ref. No. Descripcion Unit Qty. Precio (CLP)
1 43921-56000-000 Converter Holder Pcs 1 S 7.500
2 43951-56000-000 | Gearbox Decoration Cover Holder Pcs 2 S 6.800
3 10703-56000-000 Spring Washer GB93(M6) Pcs 6 S 3.500
4 10723-56000-000 bracket washer GB/T 97.1(M6) Pcs 6 S 3.500
5 10515-56000-000 Screw DIN7984-2002 (M6*25) Pcs 6 S 3.500
6 43846-56000-000 Gearbox Reinforcing Holder Pcs 1 S 30.500
7 10438-56000-000 Screw GB/T70.2 (M6*10) Pcs 2 S 3.500
8 22090-56000-000 Driving Sprocket Pcs 1 S 16.500
9 10787-56000-000 Circlip GB/T894 Pcs 1 S 5.500
10 31353-56000-000 Chain(420-104t) Pcs 1 S 29.500
11 31352-56000-000 Chain(420-106t) Pcs 1 S 29.500
12 10405-56000-000 Bolt GB/T70.1 (M10*80) Pcs 1 S 3.500
13 10044-56000-000 Nut GB/T6187.1 (M10) Pcs 1 S 3.500
14 10525-56000-000 Screw DIN7984-2002 (M8*25) Pcs 2 S 3.500
15 10385-56000-000 Bolt GB/T70.1 (M8*75) Pcs 1 S 3.500
16 13381-56000-000 Liner (8.5-015-51) Pcs 1 S 4.500
17 10386-56000-000 Bolt GB/T70.1 (M8*80) Pcs 1 S 3.500
18 13382-56000-000 Liner (#8.5-®15-59.5) Pcs 1 S 5.500

ventas@talariachile.cl

cel: + 56 9 9415 7593

@talariachile




